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Alison doesn’t
get up at 6 o’clock. !
She gets up at
7 o'clock.

J\IL
. We use the present simple negative to talk about things we do not
usually do. With he, she and it we use doesn't and the verb.

“« He doesn’t go to school. ™
She doesn’t have breakfast.
It doesn’t go to bed.

=
doesn’t = does not /"

o

Tick (v ) the correct sentence

He gets up at 7 o'clock.
He doesn’t get up at 7 o'clock.

He goes to school at 9 o'clock.
He doesn’t go to school at 9 o'clock.

He has dinner at 6 o'clock.
He doesn't have dinner at 6 o'clock.

She goes home at 3 o'clock.
She doesn't go home at 3 o'clock.

She has dinner at 7 o'clock.
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